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  ): ا����4ت ا��6*(�–ا����4ت ا��(��2(2(� ( 1(+��ء ا�,
A -  دده��ة %�9+ة 8�ف :,��2ن >�N=��< > ? �� �)�4 %��ا���� �& @% ℓ.  
��د�9�< ا�&�2س   C�4ت وإ��  ./@� أJ< ا���ار�I � �أ ا��@ G �� اFه�+از   . ا�
   �KL� � �&�M M)? > Nا� $% SM = d ،  ت�)@N@�) 1(8��< ا�> Nا� �9P%�PN"ا� �@/   t1  3(و ) 2 (و ( ����K�#اM و S   

   ؟N/($ ا��ور وا#�@�T ا���دد  -1
2-  �4��  ؟V وا?�W #�/� ا��'�ر ا���λλλλ �4/($ >�ل ا�

  ؟M ا�@�KL إ��/($ ا���ة ا�+%@(� ا��� 8��X���9 ا����J�"� �4ل  -3

4-  �����  ؟S و �Z M ��رن ?�آ�� dأ?�W ا�

B- أ?�د�� ا�"�ن �L)دد ?+%� ]�*(� د��8  �Z  �����   .2ا�'2<  /"� أ?� أو4= %�:�ر ز�4�4/"� أ?� أو�N),J =4 ز4�4(� %
��ذا N@8 F�ف ا�C �@/ �%+N�و�94 %$ ا�\,(�N ؟ -1�  
�� أن >�ل %��4 ا��6ء ا�_ي �8 ا#�&���= �� ا��9اء ه�  -2"/λλλλ0 =600nm   ر ا�+�4ج ه���  .n = 1,5و%&�%< ا�2

  ج و>�ل %��4= ؟ أ?�W #�/� ا��'�ر ه_ا ا��6ء �� ا�+2.1-�4
2.2- �9�aC GKL8 ة ا�+%@(� ا������! اb:�رة %� ا��   �"\,(�N؟e =10cm ا��6*(� ا�

��:�ر �+او�� ورود AB 8\< ا�N+%� إ�� ا��4= -3"� i1 = 30°.   
2��ر -3.1�Fزاو�� ا W�   ؟ ا#�@�T زاو�� ا�N�اف ا�C �@/ �%+N�و�94 %$ ا���:�ر ؟i2 أ?
�� ا������ ا-3.2)Lاو��  %� ا�+"� �K&8 أن Wc� ���α =4ا�� $% �%+Nج ا��e8 F �2� AB �K&�  ؟ C = 3.10

8
 m/s    
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  ):ا�,(+��ء ا�@�و��( 2ا�,(+��ء 
����Csة ا��(+��م 
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   .-βإ:&�/(� ا�@'�ط  55

�� أن ا�@���ة ا������ة ه� ا� �ر��م  -1"/ h�,د�� ا���&% Wأآ�Ba؟   
 ڤ��i ا����K ا�@��c8 /$ ه_ا ا��,�h ؟-أ?��2�F�� W�ون -2

3-  �PN"ا� �@/ �����t = 0� .                                                                 m0 = 10g آ�"��9 137(+��م  /"� /(@� %$ ا�
  ؟%75 /@� أ�� ��PN �28ن �� � ا��(+��م ا���,��� ه� -3.1

   أ?�W آ�"� ا��(+��م ا���,��� وا#�@�T ا����K ا�@��c8 /$ ه_ا ا��,�h ؟-3.2
3.3-�  (+��م ؟ أ?�W >��� ا���i �@��� �@���ة ا�

) : أآ�� ا#�L�ارا ؟ �&Rb (   �K أم Ba(  أي ا�@���8($ -3.4 ) nucléonMevRb /66,8
89 =ζ 

nHeHH:     �&� � ا��,�/< ا����� -4     
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           4.1- T�@�#ا �Z >/�,ا�� $/ T8�@ا��2"� ا� lL@ا� W�   ا����K ا��N�رة �aC= ؟E أ?
  . 8&�دل ا����K ا��N�رة �α"@�8�ون وا���(�L  #�/�� ا�����(�م و ا��و8���م 9%�"�($ و ا����K ا�N�آ(�  �&� �-4.2           

���9 ب mα و mn و E �"@�8�ون ا��@ &ECn ��F�� M                أ/i 8& (� ا����K ا�N�آ(� )� W�   ؟Mev و ا?
               �K&� :m(Cs)=136,90707u ; m(Ba) =136,90581u ; λλλλ(Cs) =8,4.10

-10
s

-1
 ; M(Cs)=137g/mol ; 

   ;  m(e) =55.10
-5

u   ; mn =1,0087u   ; mp =1,00734u ;1u =931,5Mev/c²                 NA =6.10
23

mol
-1

       
                              mt = 3,0155u  )          م�)�       md = 2,01355u    )  ا��و8���م (              و           )ا����
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  ): �7iL( ا�2(�(�ء 
  

H3O ) و%N"�ل ?�n ا�2"�ر��ر�! Mg ا��,�/< �($ �"+ ا��X@(+��م  ��رس         
+
 +Cℓ-

 ).   

)(:  ا��+دو�4($ ا����C"� �� ا��,�/< ه�           

2

)( / saq MgMg +
3)(2  و  / HOH aq

+
   

  )ن1 (وا#�@�T ا��&�د�� ا�N\("� �"�,�/< ؟أآ�o\� W ا��&�د�� �2< %+دو�4  )1
2(  �PN"4"� /@� ا��? �� >C�� ، >/�,ه_ا ا�� �)آ�را#� ?��t = 0 ��c?، Va=50mL p+)آ�ا�2"�ر��ر�! 8 n� %$ %N"�ل ?

Ca=0,5mol/l   �"ا�(= ��را آ� o)6� �Z m =20mgم��+)@X�                         .                                                     %$ ا�
                                                                 �"4�N��� >\�% iX6"� ���� i�F �K#ا�� �/�\���q)L �(� ا��X"� iX6ز ا�

 �<�K% أ� �ب �K#ا�� . ����Z ��c? ز�Xا� >X'�V ����Z ارة�در�4 ? �@/ T                               .                                    
��ون ا�@��*T ا��N\< /"(�9 �� ا��cول أ#,"=                                                                                                             

                                                                         ) ن0,5(أ?�W آ�(�� ا���دة ا� �*(�($ �"@�/($ ا��rآ�� و ا���e+ل؟ ) 2-1
                                                                                 ) ن0,5( ؟   xmax?�د ا���,�/< ا���N وا#�@�T ا���Lم ا��\� ) 2-2
2-3 ( ���&�#F�� م�Lا�� $)� ��a&م ?�د ا��Lول ا���c�x و n(H2) �PN"ا� �@/ t ن1( ؟(                                                          
  ���s x ��Fز آ�%<، أ8 h Z& (� ��H2/� �ر ) 2-4

xmax                و 
2Hp و pmax �PN"ا� �@/  t       ؟                 

2-5 ( �@N@�                     G �8 %���%��ي ���Nل آ(�(�*�                                  .       ����F ا�+%$ X8x(�ات ا���Lم ) 2:1<(���< ا�
�(� aCل ا�"�PN -             أcNا� �/�� ��t ��F / � /$ ا�

2Hp و xmax و  pmaxن(1  ؟(  

�(� /@�   - بcNا� �/���� ا�)� W� )ن(1   ؟ آ(X�8 o(� ا���/� ؟t’ = 210s  و t = 90sأ?

��= % (��(� ؟ /"< ذ�!  - ج)� $)/ �Z ،>/�,ا�� o\� $%ف ز�ن(1 ./( 

 �K&�         :  م��+)@X�   p.V=n.R.T%<   و %&�د�� ا��X"� ���Nز ا�M(Mg) =24,3g/mol �2ا��2"� ا����(� ا�_ر�� �"
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